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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer any TEN questions. 

1. What is prime cost? 

 •ußø©a ö\»Ä GßÓõÀ GßÚ? 

2. What is cost unit? 

 AhUP A»S GßÓõÀ GßÚ? 

3. Expand FIFO and LIFO. 

 FIFO ©ØÖ® LIFO I Â›ÁõUP® ö\´P. 

4. What is labour turnover? 

 öuõÈ»õÍº _ÇØ] GßÓõÀ GßÚ? 

5. What is economic order quantity? 

 ]UPÚ Bøn AÍÄ GßÓõÀ GßÚ? 

6. State any two objectives of material control.  

 ‰»¨ö£õ¸Ò Pmk¨£õmiß ÷|õUP[PÎß H÷uÝ® CμsiøÚU 
SÔ¨¤kP. 

7. Write the meaning of overhead. 

 ÷©Øö\»ÄPÒ Gß£uØS ö£õ¸Ò u¸P. 

8. State any two selling overheads. 

 ÂØ£øÚ ÷©Øö\»ÄPÒ H÷uÝ® CμsiøÚU TÖP. 

9. What is normal loss? 

 \õuõμn |mh® GßÓõÀ GßÚ? 

10. What are running charges? 

 C¯UP ö\»ÄPÒ Gß£Ú ¯õøÁ? 

11. What do you understand by machine hour rate? 

 C¯¢vμ ©o ÷|μ Ãuzøu G¨£i ¦›¢x öPõÒQÕºPÒ? 
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12. Write the different methods of measurement of labour turnover. 
 öuõÈ»õÍº _ÇØ] ÂQuzøu AÍÂkÁuØPõÚ öÁÆ÷ÁÖ 

•øÓPøÍ GÊuÄ®. 

SECTION B — (5 × 5 = 25 marks) 

Answer any FIVE questions. 

13. Distinguish between cost accounting and financial accounting. 
 AhUPÂø» PnUQ¯À ©ØÖ® {vU PnUQ¯À BQ¯ÁØÖUS 

Cøh°»õÚ ÷ÁÖ£õkPøÍz uμÄ®. 

14. A factory produces 100 units of a commodity. The cost of       
production is: 

                                  Rs. 

 Materials         10,000 

 Wages        5,000 

 Direct expenses  1,000 

 Factory overheads are 125% on wages: office overheads are 20% 
on works cost, expected profit is 25% on sales. 

 Calculate the price to be fixed per unit. 
 J¸ öuõÈØ\õø» J¸ ö£õ¸Îß 100 A»SPøÍ EØ£zv 

ö\´QÓx. EØ£zv°ß AhUP® Gß£uõÁx  

                                  ¹. 

 ‰»¨ö£õ¸mPÒ    10,000 

 T¼       5,000 

 ÷|μi ö\»ÄPÒ  1,000 

 öuõÈØ\õø» ÷©Øö\»ÄPÒ T¼°À 125% A¾Á»P 
÷©Øö\»ÄPÒ ÷Áø» ö\»ÂÀ 20% Gvº£õºUP¨£k® »õ£® 
ÂØ£øÚ°À 25% BS®. 

 J¸ A»QØPõÚ Âø» {ºn°zuø» PnUQkP. 

15. State any five items that are included in financial accounts only. 
 {vUPnUQ¯¼À ©mk÷© Ah[PUTi¯ H÷uÝ® I¢x 

CÚ[PøÍ SÔ¨¤kP. 

16. Calculate EOQ from the following : 

 (a) Consumption during the year =  600 units 

 (b) Ordering cost Rs.12 per order 

 (c) Carrying cost 20% 

 (d) Price per unit Rs. 20 
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 RÌPsh uPÁÀPÎ¼¸¢x EOQI PnUQkP. 

 (A) Bsk ~PºÄ – 600 A»SPÒ 

 (B) Bøn°ß AhUP® ¹. 12 J¸ BønUS 

 (C) _©US® ö\»Ä 20% 

 (D) J¸ A»SUS Âø» ¹. 20. 

17. From the following particulars, Calculate : 

 (a) Re-order level  

 (b) Minimum level  

 (c) Maximum level 

 Normal usage               100 units per day 

 Minimum usage              60 units per day 

 Maximum usage              130 units per day 

 Economic Order quantity    5000 units 

 Re-order quantity          25 to 30 days 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x PnUQkP. 

 (A) ©Ö Bøn AÍÄ 

 (B) SøÓ¢u£m\  \μUQ¸¨¦ AÍÄ  

 (C) AvP£m\ \μUS C¸¨¦ AÍÄ  

 \õuõμn £¯ß£õk 100 A»SPÒ J¸ |õøÍUS 

 SøÓ¢u£m\ £¯ß£õk 60 A»SPÒ J¸ |õøÍUS 

 AvP£m\ £¯ß£õk  130 A»SPÒ J¸ |õøÍUS 

 ]UPÚ Bøn AÍÄ 5000 A»SPÒ 

 ©Ö Bøn Põ»® 25 •uÀ 30 |õmPÒ Áøμ  

18. From the following data, calculate Rovan Man and Halsey Plan 
earnings. 

 Time allowed 48 hrs 

 Time taken 40 hrs 

 Rate per hour Rs. 1 

 RÌPsh uPÁÀPÎ¼¸¢x ÷μõÁõß ©ØÖ® íõÀê vmh 
Á¸Áõø¯U PnUQhÄ®. 

 AÝ©vUP¨£mh ÷|μ®  48 ©o ÷|μ[PÒ 

 Gkzx öPõsh ÷|μ®  40 ©o ÷|μ[PÒ 

 J¸ ©o ÷|μzvØS T¼  1 ¹£õ´ 
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19. From the following particulars, Calculate the labour cost per          
manday of 8 hours: 

 (a) Basic salary : Rs.5 per day 

 (b) Dearness allowance 20 paise per every point over 100 
points 

  (Now cost of living index for workers is 80% points) 

 (c) Leave salary 5% of (a) and (b) 

 (d) Employer's contribution to P.F 8% of (a) and (b) 

 (e) Employer's contribution to state insurance 5 % of (a), (b) 
and (c) 

 (f) Number of working days in a month 25 days of 8 hours              
each. 

 RÌPsh uPÁÀPÎ¼¸¢x, 8 ©o ÷|μ J¸ ©Ûu |õÐUPõÚ 
öuõÈ»õÍ›ß AhUPzøu PnUQhÄ®.  

 (A) Ai¨£øha \®£Í® : J¸ |õÐUS ¹. 5 
 (B) APÂø»¨£i – ¡Ö ¦ÒÎPÒ ªS® JÆöÁõ¸ ¦ÒÎUS® 

20 ø£\õ (uØö£õÊx ÷Áø»¯õmPÐUPõÚ ÁõÌUøP 
SÔ±mk Gs 80 \uÃu® BS®) 

 (C) Âk•øÓa \®£Í® (A) ©ØÖ® (B) 5 \uÃu® 
 (D) ÷\©|»{vUS •u»õÎ°ß £[S AÎ¨¦ (A) ©ØÖ® (B)ß 

8 \uÃu®. 
 (E) ÷u]¯ Põ¨¥miÀ •u»õÎ°ß £[PÎ¨¦ & (A), (B) ©ØÖ® 

(C) Ûß 5 \uÃu® 

 (F) J¸ ©õuzvØPõÚ ÷Áø» |õmPÎß GsoUøP u»õ 8 ©o 
÷|μ® 25 |õmPÐUS.  

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

20. Explain the different methods of cost accounting. 

 AhUPÂø» PnUQ¯À £À÷ÁÖ •øÓPøÍ ÂÍUPÄ®. 

21. Prepare a cost sheet showing cost of production and profit from          
the following data. 

 Opening 
Rs.  

Closing 
Rs. 

Stock of raw materials 75,000 78,750

Work-in-progress  24,600 27,300

Stock of finished goods 52,080 47,250
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 Rs. 

Purchases for the year  65,700

Sales  2,16,930

Direct wages  51,450

Works expenses  25,020

Selling and distribution expenses 12,630

Scrap sold  990

Office expenses  20,610

 ¤ßÁ¸® uμÄPÎ¼¸¢x EØ£zv ö\»Ä ©ØÖ® »õ£zøuU 

Põmk® AhUP HmiøÚ u¯õ›UPÄ®. 

 Bμ®£® 
¹. 

•iÄ  
¹. 

‰»¨ö£õ¸mPÒ \μUQ¸¨¦  75,000 78,750 

|h¢x öPõsi¸US® ÷Áø» 24,600 27,300 

•iÄØÓ ö£õ¸Îß \μUQ¸¨¦ 52,080 47,250 

  
 ¹. 

BskUPõÚ öPõÒ•uÀ 65,700

ÂØ£øÚ 2,16,930

÷|μi T¼ 51,450

÷Áø»a ö\»ÄPÒ 25,020

ÂØ£øÚ (©) Â{÷¯õP ö\»ÄPÒ 12,630

PÈÄ ÂØÓx 990

A¾Á»P ö\»ÄPÒ 20,610

22. The following transactions occur in the purchase and issue of a 
material 

 Jan 02 Purchased 4000 units @ Rs. 4.00 per unit 

 Jan 20       Purchased 500 units Rs.  Rs. 5.00 per unit 

 Feb 05 Issued 2000 units 

 Feb 10 Purchased 6000 units Rs.  Rs. 6.00 per unit 
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 Feb 12 Issued 4000 units 

 Mar 02 Issued 1000 units 

 Mar 05 Issued 2000 units 

 Mar 15 Purchased 4500 units @ Rs. 5.50 per unit 

 Mar 20 Issued 3000 units 

 From the above, prepare the stores ledger account. 

 By adopting FIFO method of charging material issued. 

 What would be the value of stock in hand at the end of the          
period according to FIFO method? 

 RÌPsh |hÁiUøPPÒ ö£õ¸Ò öPõÒ•uÀ ©ØÖ® AÝ¨¥kPÎÀ 
{PÌQßÓx. 

 Jan 02 Áõ[Q¯x 4000 A»SPÒ ¹. 4.00 GßÓ ÃuzvÀ  

 Jan 20       Áõ[Q¯x 500 A»SPÒ 1 A»S ¹. 5.00 GßÓ ÃuzvÀ 

 Feb 05 ÁÇ[P¨£mhx 2000 A»SPÒ 

 Feb 10 Áõ[Q¯x 6000 A»SPÒ 1 A»S ¹. 6.00 GßÓ 
ÃuzvÀ  

 Feb 12 ÁÇ[P¨£mhx 4000 A»SPÒ 

 Mar 02 ÁÇ[P¨£mhx 1000 A»SPÒ 

 Mar 05 ÁÇ[P¨£mhx 2000 A»SPÒ 

 Mar 15 Áõ[Q¯x 4500 A»SPÒ 1 A»S ¹. 5.50 GßÓ 
ÃuzvÀ   

 Mar 20 ÁÇ[P¨£mhx 3000 A»SPÒ 

 ÷©Øö\õßÚøÁPÎ¼¸¢x \μUS ÷£÷μmk PnUøP u¯õº 
ö\´¯Ä® ö£õ¸Ò ÁÇ[PmhvÀ FIFO •øÓ ¤ß£ØÓ¨£mhx. 

 FIFO •øÓ ¤ß£ØÔÚõÀ Ai¨£øh°À Põ» CÖv°À  
øP°¼¸US® \μUQß ©v¨¦ GßÚÁõP C¸US®? 

23. Calculate the normal and overtime wages payable to a workman              
from the following data. 
Days  Mon Tues Wed Thur Fri Sat Total 

Hours worked  7 8 10 9 8 5 47 

 Normal working hours – 7 hours per day 

 Normal wage rate – Rs. 10 per hour 

 Over time – upto 8 hrs in a day at single rate and over 8 hrs in a             
day at double rate. 

Or 
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 Upto 42 hrs in a week at single rate and 

 Over 42 hrs at a day at double rate 

 Whichever is more beneficial to the workman? 

 ¤ßÁ¸® uμÄPÎ¼¸¢x J¸ öuõÈ»õÎUS öPõk£h ÷Ási¯ 
\õuõμn ©ØÖ® TkuÀ ÷|μ Fv¯[PøÍ PnUQkP.  

|õmPÒ v[PÒ ö\ÆÁõ´ ¦uß Â¯õÇß öÁÒÎ \Û ö©õzu® 

÷Áø» ö\´u ©o ÷|μ[PÒ  7 8 10 9 8 5 47 

 \õuõμn ÷Áø» ©o÷|μ® – J¸ |õøÍUS 7 ©o ÷|μ® 

 \õuõμn T¼ Ãu® – J¸ ©oUS ¹. 10 

 TkuÀ ÷|μ® – 8 ©o÷|μ® •i¯ \õuõμn Fv¯® ©ØÖ® 8 
©o ÷|μ® ªS® ö£õÊx 2 ©h[S Fv¯®. 

(AÀ»x) 

 J¸ ÁõμzvÀ 42 ©o ÷|μ® Áøμ \õuõμn Fv¯® ©ØÖ®  
42 ©o÷|μ® ªS®ö£õÊx 2 ©h[S Fv¯®. 

 ÷Áø» ö\´²® öuõÈ»õÎUS  G¢u •øÓ AvP |ßø© £¯US®. 

24. The following data were obtained from the books of Light          
Engineering Company for the half year ended 31st March 2007. 

  Production Department Service Department 

  P1 P2 P3 S1 S2 

Direct wages  Rs.  7,000 6,000 5,000 1,000 1,000 

Direct material Rs.  3,000 2,500 2,000 1,500 1,000 

Employees  Nos  200 150 150 50 50 

Electricity  KWH 8,000 6,000 6,000 2,000 3,000 

Light Points  Nos  10 15 15 5 5 

Asset values  Rs.  50,000 30,000 20,000 10,000 10,000 

Area occupied  Sq. Mtr. 800 600 600 200 200 

 The expenses for 6 months were: Stores overheads Rs.400; 
Motive power Rs. 1,500; Electric Light Rs. 200; Labour welfare, 
Rs. 3,000; Depreciation Rs. 6,000;  Repairs and maintenance  
Rs. 1,200; General Overheads Rs.10,000; Rent and Taxes  
Rs. 600. 

 You are required to prepare Primary Overhead Distribution 
summary for the departments following clearly the basis of 
appointment were necessary. 
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 ©õºa 31, 2007 Ehß •iÁøh¢u Aøμ¯õsiØPõÚ JÎ 
ö£õÔ°¯À {ÖÁÚzvß ¦zuP[PÎ¼¸¢x ¤ßÁ¸® uPÁÀPÒ 
ö£Ó¨£mhÚ. 

  EØ£zv xøÓPÒ  ÷\øÁ xøÓPÒ 

  P1 P2 P3 S1 S2 
÷|μi T¼  ¹. 7,000 6,000 5,000 1,000 1,000 
÷|μi ö£õ¸mPÒ ¹. 3,000 2,500 2,000 1,500 1,000 
÷Áø»¯õmPÒ  (GsoUøP) 200 150 150 50 50 
ªß\õμ® KWH 8,000 6,000 6,000 2,000 3,000 
JÎ ¦ÒÎPÒ  (GsoUøP) 10 15 15 5 5 
ö\õzx ©v¨¦  ¹.  50,000 30,000 20,000 10,000 10,000 
£Sv E£÷¯õQUP¨£mhx \.«. 800 600 600 200 200 

 Ph¢u BÖ©õu ö\»ÄPÒ : PøhPÒ ÷©Øö\»Ä ¹. 400, G›\Uv  
¹. 1,500, ªß\õμ JÎ ¹. 200, öuõÈ»õÍº |»ß ¹. 3,000, 
÷u´©õÚ®  ¹. 6,000, £Êx ©ØÖ® £μõ©›¨¦ ¹. 1,200, 
÷©Øö\»ÄPÒ  
¹. 10,000 ÁõhøP, Á› ¹. 600 

 xøÓPÐUPõÚ •ußø© ÷©Øö\»Ä Â{÷¯õP öuõS¨ø£ u¯õº 
ö\´¯Ä®. \›¯õÚ £Qº¢uÎzu¼ß Ai¨£øh°À. 

 

—————— 


